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m#k 25 -1 s,
£25-1 RX7THBAFAHBEARSE

S UNTAS
VB Hht/pF | e A] ARG [/ wF ——uF
RX7-0 | 0~1.111 4 (0 ~10) x (0.000 1 +0.001 +0.01 +0.1) [0.000 1
RX7-1 | 0~1.110 3 (0~10) x (0.001 +0.01 +0. 1) 0. 001
RX7 -2 0~1.10 2 (0~10) x (0.01 +0.1) 0.01
RX7 -3 0~0.11 2 (0 ~10) x (0.001 +0.01) 0.001
RX7 -4 | 0~1.00 1 (0~10) x0.1 0.1
RX7 -5 0~0.10 1 (0 ~10) x0.01 0.01
RX7-6 | 0~0.01 1 (0 ~10) x0.001 0. 001

RX7 B AFE R HERR EEINF -
10 x0. 1 wF 40 +0.5%
10 x0. 01 wF 41 +0.65%
10 x0.001 pF 41 2%
10 x0.000 1 pF 4 5%
Bl 4n Fil RX7 -0 ZU=X i i 25 58 1 D 32 U v BF 19 R A8 o 25 8%, o BF 24 B & A9 38
N (W)
C =0.658 4 uF
W] C f MG BEAS B 1
5C =0.6 x 0.5% +0.05 x 0.65%
+0.008 x 2% +0.000 4 x 5%
=0.003 + 0.000 325 + 0. 000 16 + 0. 000 02
=0. 003 505( wF) ,

AU HL A C 1E/INECERUR A8 SO AR MR T, 1 T LA L T i B R o
BE LR L/NBOS RS = LA — IS HME. RE R RARGR WA E R
C = (0.658 4 +0.003 5) WF

) 1 C = (0.658 +0.004) WF
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(1) FRBEEE +20 C +5 C,HAEE 30% ~80% ;
(2) TS 800 ~1 000 Hz;
(3) Brimes ER A F it ;
(4) ARERIAH A (ST 5 M08 ) B M R IR 2.
RX7 R R RECR B E 1.5 x1074°C .
R ARG A 09 T IME (tan &) R 85

10 x0. 1 pF £ 2L5 x 1052

10 x0.01 pF 4 3T3x10

10 x0.001 wF#4H  1x10°°

10 x0.000 1 wF 4 5x107°

BB AETEN T .
BA(RX7) | RX7-0 RX7-1 RX7-2 RX7-3 RX7-4 RX7-5 RX7-6
RihmA< | 80pF 60 pF  40pF 40 pF 25 pF 25 pF 25 pF
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RAMRB NN 1.2.3.4 HZHEAR, B 1560 FREFITFRMED
FERA A TR, B AR B 0 ~ 10 Z (A 4R — 4> ey A4, & 25 - 12 BR. B
ARPTR R & 228 R LM IR = 8 1 fE A R A48 T 3 B ik, FF R E AR
BREENNEBERN , RALOBHRBEMEELHEE, EHERAZA,
oL A B BT R0 S B A e SRR A3 2 R S AE 4 U T AR L, I 2B E A R i A R
AW, BRI HmERR L, BRI 1" 2" WA mdl, B & A5
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10X0.000 1 puF 10X0.001 pF 10X0.1 pF
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